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[Time: Three Hours)
Please check whether you have got the right questton Paper. F S
N.B: 1. Question.No.1is Compulsory. LA R FE S ESELC S

2. Attempt any three from reaming five questnqns( i

s o ~.,'

Q.1a) What is'a Class? How will you create a class in C++? What are dlffereﬁtelgmqnts‘that\can\be‘addeqtb a CIass? 10

S o D

Explain with a suitable program.

Y i
*
b) Explain the differences betwegn\::: N a 10
1) Staticand Constant™ . 7. 2
2) Cand C++ p *..—‘_'j'. ‘ J
= - . - \ o
Q.4 a) What s Template? Explaln the :anept»of“classﬂ’emp}ate‘:wme a prqgram to implement the use of class 10
template. _'3 Sk ‘_,\\_. gt iy 2 Sy
b) What is polymdrphism? Explain Wltﬁ examplg how pol 10
Q.5a) Declare a Studept dass—with mll nb nama and addfeSsJMnte”a program to store and access the object of 10
% student clgss tnto and from binan/ ﬂle ST A S LS
b) What |s Excem:on Handiing? Wntea progg,am ‘EQ éreate and handle user defined exception. 10
oA :‘ 20

q.s Wnté shqrt notes orﬂa\nv four}
a} Newand delete Operators '

b) Thjs pomter

"'\w\'ﬁ

Y

;} Namespacgs :h Ct+ 3

d) Ménlpulators‘ ) ,4 N ol N &

e) Loopslnc,-H N
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1. a)

b)

2. a)
» °
3. a)

b)

4, a)

b)

5 a)

b)

E ahort Mote {any 4 out of 5)
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Q P. Code 01597 "

[Time: - 3 Hours] &3 I;Marks 80]'

Please check whether you have got the right que?;tion ‘p’aper. '
N.B: 1. Question No. 1is compulsory.
2. Attempt any three questions from remainihg f‘ ve ciuestlons

Explain Waterfall model in detail. TFELR S oA >
‘What is outsourcing and explain its different types ‘

Explain the Feasibility study and its types and need

Explain the Project Life cycle. _ :

Wha: are requirement Elicitation technlques? Llstand brief them in detall
Explain the Knowledge areas of Pro;ect Management. £ :
Assurne that the size of organlc type s/w prolect has been est:mated to be 35 KLOC

The Avg. Determine the effort requwed to develop the s/w product & development time,
average staff size and productivity for all three modes. Given: _

Ovgariic (al=2.4,a2=1.05,b1=25,h2 = 038}, semi-detached (al = 3.0, 32 1.12,b1=25,b2=
0.35) Embedded (a1 =3.6,a2=1, 20 bl 2. L bZ 0 3)
Explain the structuredwalkthrough in’ delaii?

-
- - 4
e

Explain Procurement Management En dethlt
Consider a project with followmg functlona! umts
Nio. of user inputs= 50
No. of Liser oul:puts = 40 '
No. of User Inguiries = 35
No. of User files = 06.. A
No. of. External lnterfaces 04 :

ssume all C'orhpiexitv adjustment factors and weughtmg factors are average.
(.ompute the: Function ponnt for the prqject

v A
f\.

a) ‘Resource Ioadmg

b) . Rellab;llty Melrlcs :
¢) 3Ri in softwara engmeenng
d) Role r}f Project. Manager
"e) Extre me Programmmg
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(3 Hours) __ Total Marks : 8056 1
N.B.: 1) Question No.1 is compulsory. ST oSS Ee s .. . '_ il
2) Attempt any three four from the remammg ﬁve questtons A
3) Draw suitable diagrams wherever required..s . < i s
4) Answers to sub- questions should be grouped together

. (@) Explain the role of the registers MAR and MBR m mstructlon_“ S(05):
execution. SRS TSRS W g T
(o) Constructa logic circuit using AND OR and NOT gates * 5(05)
y=(@A+B)(A+C)’ (B+C) SARTS 5

{¢) Simplify the following expression using Karnaugh Map;_
® F(A,B,C, D)= Yym (1, 278 10 15)+d(3 5)
’ (d) Explain the working of a DRAM sk :

S O

(05)

2. (a) What is cache memory" Exglam the orgamsatlon of cache (10)
memories in detail. - "¢ JalRE PSS S F
(b) Discuss the role of a Bus in computer orgamsatlon Explam (10)
various bus 1nterconnect10n structurcs S
3. (a) What are th Flops'? How are they useful in dlgttal circuits? (10)
Explain the constructlon and workmg of a J-K and D-Flip Flops
with their truth tables. - o
(b) Discuss various factors that affect the desngn of an instruction in (10)
the mstructnon set of a processor

.\ ,\'..‘

4. (a) Explam the structure and workmg of a Control Unit. (10)
) _\(b) What are mterrupts‘? Explam methods for handling interrupts. (10)
D o (a)_- ) _Explam the role of regtsters 1n a CPU Discuss the organisation of (10)
WP . registers ina CPU.
: "(b) ‘Discuss various RAID 1eve1s W1th suitable diagrams. Explain (10)
advantages and dlsadvantages of each of them.

6 Wnte Short Notes on any four of the following: (20)
(a) = Array Processors |
b) Instruction Plpehmng
SLe)s ~Full Adder
) s “De-multiplexer
S TR "thical Memory.

A6770F26CF24EE77E63958C4E193A596




Sem - il /T8631 /T0239 IT IN MANAGEMENT /MM -20H

Q.P. Code :02850
. [Time: 3 Hours] [ Marks:80]
Please check whether you have got the right question paper.
N.B: . Q.1 is compulsory

Attempt Any Three questions from Q.2 to Q.6
Figures to right indicates marks
Additional information can be considered but justify the same

BN

Q.1 Write Short on Following (Any Four)

a
b.

"

Role Of Computer in Modern Business

E- governance

. Roles of IT in E-commerce

International Business using IT

e. Added Value of The CIO

Q.2 a)
b)
Q.3 a)
b)
k)
Q.4 a)
b)
Q.5 a)
b)
Q.6 a)
b)

Ty W, C Y

Value Chain

Summarize key management issues for Information Technology Management

Explain stepwise process to manage Information Technology internationally.

Identify and evaluate different option for regulating and managing acquisition.
Analyze the statement “Key challenge for management is the integration of information

technology and the business ”

Explain benefits of a global IT strategy. Also associated risk

Differentiate between major types of international business strategies.

List and Explain in detail Contents of an Information System Plan

Describe different perspectives of Information system.

Describe and Compare the role of Information Technology in E-Commerce and M-
Commerce
Explain the necessities in acquire technology in a firm. Write down steps to check for

maturity of technology.

7879AB9848BCA74B209B152B50767D5C

20

10
10

10

10

10

10

10
10

10
10




"WA!C%CS/ EMT| S LPINAY 2017

T8631/T0238 STATISTICS AND PROBABILITY

’ Q.P. Code :04436
' [Time: 3 Hours] o [Marksw] )
| Please check whether you have got the right quest‘ oh papeﬁ
: N.B 1. Question No. 1 is compulsory -
2. Attempt any three question of remaining’ .
' 3. Assume any necessary data but justlf,y;tbe,aa'
4. Figure on the right indicate the full ma
5. Use of scientific calculatoris allowed{ ‘
Qi a) Find the median wage of the following distl:iﬁiiti.t;n':f; i 05
Roll no. 0-20 20-40 4060 - | 60 {:
Marks 5 8 F 350 o 86 Fe:
b) The age of people in an old age homg 05

Make a stem and leaf plot of“the déta. Cags

i) How many people: are :§1‘=tga§'-gid2
ii) What age is the youhgég and thqsofde'.%t pe
iii) How many people aré 4049 ygirsaid?

c)

d) Anurn contains”? white and‘3 @Qballs,»?vmbalts argxlrawn anépther at random from the urn. 05
Compute the pr bihw th@tnenthemfthem is’ whlte;”Fmg.aJs‘ﬁ the probability of getting one
white and one red:Hence ﬁompute thé expectednumber of white balls drawn.

05

05

4

162, | 110 95 82 | 26 13 2

: :'\i':cir)"\\':‘Find the coeft uent ﬂtvariatlon of frequency distnbutlon given that its men is 120, mode is 123 and 05
Karl Persen s cﬁgfﬁci nt’ of skewness is - 0.3.

TURN OVER

3321695B20842B155E053B1185019C53




Q.3 a) Fiox A contains 5 red marbles and 3 blue mar
drawn at random from each box

* Find the probability that both marbles are red

* Find the probability that one is red and other is blue -

') Letvariable X have the distribution P(X=0) = P(X=2)=p, p(x#i”'} Dnfo
For what p is the Var(X) a maximum? P

c) Find the regression line of y on x for the following daiai
X 1 2 3 4 .
Y 2 5 3 A

d A:35 47 23 6 17 10 43
Y: 30 46 33 4 23 § 4FL
Compute their ranks in the two subjects

cor: Iaﬁgh‘ﬁb‘gfﬁgignt’

(1.4 a)

T Ty

Cornpute the probatgility-'qf eacl‘i-bfwthe fo

IIGWII‘IB es?%ftts

b)

PIX,-x}.
Find Eczmg, ¥

c)

: d) The ﬂrst of the two amp!es has loaitenngth fmean 25 and 5.D 3. If the whole group has 250 items
o with 1S 44) ¥ find -thes D. of the second group. s

Fora grou@ of zeogcaridfdatesthe_ 'ean‘and stapdard deviation of scores were found to be 40 and 15 05
.\IQSpEth@W L

: Later ¢ enjt wasd coVered that the/scores 43 and 35 were misread as 34 and 53
“Find t ~m‘£an and standard deviation of the corrected figures.

05
e Cal;ula © Bcwlev‘s$ efﬂment of skewness for the following 05
: F 2030 [ 3040 | 40-50
12 | |6
TURN OVER
\
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Q.7

d)

a)

b)
c)

d)

a)

b)

c)

d)

T8631/T0238 STATISTICS AND PROBABILITY

Q.P. CodeOMSS Ko

For 8 observations the following results were calculated ¥x = 59, Ey = 40,):.7{2—-1*524;, ﬁ ' '_‘\0'5“ o

Yy? =256, Yxy =344 findthe regression equationsyonx.

The joint density function of the two dimensional random variaﬁie{x,‘(}, i;?gg"ivep 'bg i~ e 05
3,3 pRnphd oy P AT . -
=0 otherwise o NS 3 R ST s
Find the marginal densities of Xand Y . KRl ¥ o N e -
Also find the cumulative distribution functions of X and ¥.. -

Prove that E(aX+b)=aE(X)+b and V(aX+ b) =a’ V()g):' QS , EY \ \ ol o &g e

~ Y

Give N=2500, (A)=420, (AB)=85, and (B)=570;_ﬁl=ijr3d themgss‘gng‘;@|pg§-, KRS8
-:‘,‘.“_- ‘\: ; ..:‘ o~ _‘_\ \"'\‘.‘ \' ;f' ~ . ;‘ '\ ~ o e . 5
The mean weekly sales of soap bars in depaftment stores was 146.3.bars per store- After an 0

advertising campaign the mean weekw‘ga'{e,sf};firs,ﬂtorgkﬁfa

V. 2 stor typicat week increases to 153.7 and
showed a standard deviation of 17.2:Was the dvertising campaign successful? =" .
( Given: The table value of t for 21.d.f. 3t 5% significant level is 1.72) Lol ORR i ar

Prove that with example that three _\é’yéﬁt’é _rﬁa'y lée b#ir M_sg.iﬁﬂé'D'E_nd;ﬁt_ but need not to be mutually 05
independent. SFees P e T SR S e

~ 7,

AN S Lo

There are three boxes,}_ﬂgbfx';i cqqiéiﬁgi whzigiﬁged\and; Lﬁlé@kﬁbﬁills."fh&z{l_'édhtains 2 white 3 red and 05
1 black balls Box Il contains- 3'white -;l'féd'-ahd:-z,bl'ack‘b{l‘fs;‘_ﬁhbxﬁi;i@nqéeﬁ at random. If the balls

drawn are first red and second white, what s the probability that they come from Box "
Test the consistﬁdcg:bf_ﬂj’t_g fcllowingdagga with the SmeBhavingjhelr usual meaning 05
N-1000, () <600, (8) 500, (850

N

The observed amglexpecxed frqduén&gs\'idigﬁ;._tﬁg-a_g‘téiizﬁ times are given below. Test the 05
hypothesis that the die-is fair.  Use levet of significance=0.05, and critical value for 5 d.f. is 11.1)
Diefacec Jlo s don itk o oo ps 355 4 5 6
Observed- - <255 ol o475 CF . 8B 23 24 16
frequeﬂdes NN r”‘ P At e s e g A
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